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23 OO0
Sage 0000000 DOODOOOODOO?0000 Shift-Return0 000000000 O0OO0O

00000OabsO0000000000O0DO0O0O0DODOOOOOOOODO0OODODROOM
|abs?

Type: <type 'builtin_function_or_method'>

factor
Definition: abs( [noargspec] )
Docstring: evaluate
abs (number) -> number factorial

Return the absolute value of the argument.

O2:absO0000000OO 03 facO00O0O0DOOO
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00000000D00000000 factorOOO0OO0O0OO0OOOOfactord factorialOd 20
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27 DO0OOOOOO

Sage 0O OOOOOOOOOOOOOOOODOODODODOOOOvarOODOOOOOOOO
coboooobboobobodvar00ooOOoOOOoOoOOOOOOOO0OOOOOOOOOOn
O00B00 1000M000Sage0 0000000000 OODO30000000000

gopoooooo f(x) =00O0O0ooOOoOoOoood
PythonO OO PythonO def 0000000000000
lambda 00O PythonO lambda 00000000000 OOO

OoOoO0OO0O3000000000000PythonO000lamba00000000O0O0O0O0OOO
goooooeOoDo300000

# ERyDEH

u, v = var('u v')

type(u)

<type 'sage.symbolic.expression.Expression'>

# BISBEROER
# YRy B8 OE
symCubicRoot(x) = x"(1/3)
# PythonBS#DHl
def pyCubicRoot(x):
return x"(1/3)
# lambdaPBS¥aF
lamCubicRoot = lambda x : x"(1/3)
# BBOFUHU EER
print symCubicRoot(2), pyCubicRoot(2), lamCubicRoot(2)

27(1/3) 27(1/3) 2~(1/3)
O 6:Sage0 00000000

28 OJOOOOOOO
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oo ogoooon ogooad ooog
gooooo T € i 0
SageOO OO pi e I (dO0O004) | oo (0d20)
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1. Sin000000000000 sin_pltO0O0O
2. 000000000COOOCOCODO0O data_pltOODO
3. sin_pltO data_pltO000000O0showO0O0O0000000000000O

#
X random() for i in range(100)]

t [(sin(2*pi*x) + gauss(0, 0.3)).n() for x in X]

# T 7ERICERT 2xEEHR

var('x")

sin_plt = plot(sin(2*pi*x),[x, 0, 1], rgbcolor='green')
data_plt = list_plot(zip(X, t))

(data_plt + sin_plt).show()

TS 7DEREE
= [

15 e

O7:Sin00 +0000000010000000 SinO00000000

210 DOOODOOOODO
0O000000000o0ooooooooOoOO0O0OC0cOO0OOE@nteract00000000O

OO0O0OO0OO@nteract 00000000 def (OO)OOO0O0O0O0O0ODOOOOODOOOOO

coooooooooobooooooboOoooboboooobooooo
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# PRMLORX1.3

@interact
def _ (M= slider(range(10))):
# FHETHI0
Phi = matrix([[ _phi(x,j) for j in range(0, (M+1l))] for x in X.list()])

Phi_t = Phi.transpose()

# L—7__RyNO—XDOELLEITE

Phi_dag = (Phi_t * Phi).inverse() * Phi_t;

# FHOEH

Wml = Phi_dag * t

f = lambda x : sum(Wml[i]*x"i for i in range(0, (M+1l)))
y_plt = plot(f, [x, 0, 1], rgbcolor='red')

(y_plt + data_plt + sin_plt).show(ymin=-1.5, ymax=1.5)

M 9
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0000000000000000000 DownloadDOOOOODOO0ODOOOOOODOOO
0000000000000 000D0D000D000000 UploadODOOOODOODOOOO
goboobdboobobooboboooobuoobooobobooboobobuobobobo
goboobodobboobooboobbooboobboobbooboobbOobboon

3 DOoooooobobooooog

00000000 SageOODOOOO0O0OO0OOODOOOOOOOCODODOSage0OOOOOO
PythonO0OOOOOO0O0OO0OO0O0O0O0OO0O0OOOOOOODO20000000000000
coooao

oooooooooooz2000000000000
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oooobo d4d,00000000000000000040000O0 dp=-Vf(xep)ODODODODO

(V)" Vf(x)
(Vf(xn—l ))va(xn—l )

x 0000 @, 0000000000O0O0DOODOODOO0 HOOf(x)OOOOOOOOOo

dn = _Vf(xn) +ﬁndn—1’ Bn =

@

ALED
dTHd,

Xntl = Xp + Qpdy, @, =

(€)

31 SageOJO OO
00000000000 00000D0Sage000000000O0ODOOOOO0O vOOO x1,

x2000000000vO00O0OO0O f0000000
#0000

vars = var(’x1l x2’)

v = vector([x1, x2])

# £000
def f(v):
return 3/2 * v[0]A2 + v[0]*v[1l] + v[1]A2 - 6*V[0®] - 7*v[1]

OoovfOOOOOOOnabla f0000000000COCCOOO00OO £000000O0
oooO0O0O00dis00000000000000COOO00O0O000 vxOOOOOOOOO

coooooooooooon
# f000000000

dfs = [diff(f(v), x_i) for x_i in v]
# 0 fO000 @dfsCvxOOOOOOOOOOOOOOO)
def nabla_f(vx):
# 0000 vxOOODOOOOvOOOOOOOOO
s = dict(zip(v, vx))
# 0000D0D0ODODOO0O0O0O0O0O0O0O0O sOOOoooo
return vector([df.subs(s) for df in dfs])

000000 SagedOODOOO PythonOOOOOOOOODOOODDOOOOOOODOOOOOO
OO0 diff00000 fv) OO0 xi,x_jO00C00C0O0O0O0O0 200000000 Omatrix
goboboboooobboobobobooobbbooobbbooobbbooobbboon

OO0jsmath() OOOOOOODOODOOO
# 00000

H = matrix([[diff(diff(£f(v),x_i), x_j) for x_i in v] for x_j in v])
print jsmath(H)

31
)

o, 00000B0O0O0O0CCOCO
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#a_n0O0O0O
def alpha_n(x, d):
return -d.dot_product(nabla_f(x)) / (d * H * d)

O0o000o0oo0ooooooodoooooooooooooooog
eps = 0.001
x0 = vector([2, 1])
d = - nabla_£f(vx=x0)
x = x0
k=1
while (true):
o_nabla_f sqr = nabla_f(x).dot_product(nabla_£f(x))

0_X = X
X += alpha_n(x, d)*d
if ((x - o_x).norm() < eps):
break
beta = nabla_f(x).dot_product(nabla_£f(x)) / o_nabla_f_sqr
d = -nabla_f(x) + beta*d
if (d.norm() == 0): # 00000 0ODO
break
k +=1
print "x=", x

print "k=", k

gooooooooooood
x= (1, 3)
k= 2

OoOoOO0O0OO0OSageOOOODODODOODOODOOOOOOOOOOOOOOOOODOOO
# 000000 Sage0O0OOOO0OOOCOOOOOO

g = 3/2*x172 + x1*x2 + X242 - 6%x1 -7*x2

minimize(g, [2, 1], algorithm="cg")

Optimization terminated successfully.
Current function value: -13.500000
Iterations: 2
Function evaluations: 5
Gradient evaluations: 5

(1.0, 3.0

O00000000o0oo0ooooROoOoDoOoooog
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# 000000000

p3d = plot3d(g, [x1l, -1, 4], [x2, -1, 4]
pt = point([1, 3, £f(x)], color="red’)
(p3d+pt) .show()

0000000000000D00000D00000 Sage00O0O0O00OD0OOO0OODODOOOO
goboobooobooboooboobooobooboobboobo

-1.0 4.0

1.5 1.5

4.0 -1.0
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4 DO0OO0OO0OO0OODO

Sage 0D DO00O0D0O Sage 0000000000000 0DOO0OOOOODOOO
0000000000000 00000ROOOOODOOO00O0D Saged0O0O0OOOOOO
080

Oil Flow 0000000000000 0O0OO0D0ODOO0OO0O0O0O0OO0OODODOOOODOOO
O000000000000000000000000 DataTrn.txt 0000000000
DataTrnLbls.txt 000000000000 00000O0ODATADOSage 0000000
0000D00000000000000
ROODDODOODOOODOOOODOROOOOOOODOOOD r0000RODOOODOO
O000000000000000000000000000 result000000000
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# ROOOOODOODOO pPCAOODO
fileName = DATA + ’DataTrn.txt’
oilflow = r("oilflow <- read.table(’%s’)" %fileName)

result = r("result <- prcomp(oilflow)")

RODOOO Sage 000000000 DOO0O0D0ODOO0O0ODOO0O0ODDODOD @MOOMmO
O000000000000000000html 000 pca.pdf 00000 HTMLOOO OO

gooo
#10 0000000

fileName = DATA + ’DataTrnLbls.txt’

labels = r("oilflow.labels <- read.table(’%s’)" %fileName)
# 000000oOoOooooog

filename = DATA+’pca.pdf’

r.pdf(file=""%s"’ %filename)

# 0000OO0OOO

r("col <- colSums(t(oilflow.labels) * c(4,3,2))")

r("pch <- colSums(t(oilflow.labels) * c(3,1,4))")
r("plot(result$x[,1:2], col=col, pch=pch, xlim=c(-3,3), ylim=c(-3,3))")
r.dev_off()

# 0000000000 O0OOUOOOOOOoOg

html (’<img src="pca.pdf">")

PC2
1]
!

O10:000000000 SageOOO O11:RO0000000D00 SageO OO
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41 ROOOODO Saged OO
ROOODODO SageOOODOODO Sageobj OO0 _save_ OOOOOOOOOOOOOOOO
OO00OROOO0OO0O0O0O0O000000 Saged 3000000000000000000000

0000 Mmoo
#RUOOOOOO0ODO SageOOOOOOOOO

#DATA’ O0O0OO0OO0O0O0O0OO0OOOOVL, v20000000DOO

1b = Sageobj(labels)

# 000 zipOOQOoooQ

lbs = zip(1b[’DATA’J[’V1’],1b[’DATA’][’V2’],1b[’DATA’][’V3’])
# point3dd0 0O OO0

N = len(lbs)

plt = Graphics(Q)

for n in range(N):
[x, y, z] = rs[n]
if lbs[n][0] == 1:
plt += point3d([x, y, z], rgbcolor="blue’)
elif 1bs[n][1] == 1:
plt += point3d([x, y, z], rgbcolor="green’)
else:
plt += point3d([x, y, z], rgbcolor="red’)
plt.show()

S Sage 00O

000000000000 0000 Saged000oopoDOoO0OOOO0O0oooDoOOOOOO
0000000000000 000 Sage0 000000000000 OOOOOOOOOOO
OO00oO0OO0O00O00O0ODDOO0O0O0O00000000000 Sage0 000000 OOOOOOO
000000000000 080000000000000000000
O00000000000000000 (0)0000000000 0000000 BEXD
D000000000000000000 000000000000000
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[1] O0O00:0SSO000000000 Sagel Software Design0 2010 O 6 O 0O O pp. 89-940

6) http://www.stat.t.u-tokyo.ac.jp/~numata/nora/sage-doc/
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